Replacement Parts

1113002 / TH3002BLE

P9013001-845 —
P9013001-962

9103-845
9103-962

P9010102-845
P9013008-845 / P9010102-962

P9013008-962

P9013006-845

P9013006-962

0/l
k2 \97102

\6560194-6060 (For 845)

| —
=
T / G560194-303 (For 962)
T P9013007-845
O P9013007-962

Qty. Part # Description
P9013001-xxx |Canopy kit, including canopy, mtg bar, 1/8 IP RTN, nut(2), and screw collar
9103-xxx Standard Chain,72" long

P9010102-xxx

Fixture loop,1/4" thick,d2 1/8"

P9013006-xxx

Ball nut parts,@3/8" ball nut,washer and #8-32 screw,1/4" long(each 2pcs)

P9013007-xxx

Finial set,including finial,cover,hex nut(4),washer(2), holder cup(2),1/8IP Nipple

G560194-xxx

Glass,@15",with 4 1/2" height,Hole Size: 1/2"

P9013008-xxx

Mtg Hardware,including Mtg bar,ball nut and #8-32 screw with hex nut,1 5/8" long

97102

Self ballasted spiral bulb,GU24,13W,2700K color temperature

* Note: -xxx: Represents different finish and optional. ’N'
Available finish please see P/N shown in the drawing or catalog. s e a E I I l I ht I n
u g U ®

5/19,2015 Rev: 2

Life Illuminated | Since 1919
www.SeaGullLighting.com



